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xR & )l 10. 00 [ #H%f 250 2, 500 1,512 1, 382 1,188
IENE w5 10. 00 | #H%F 176 1,760 3,348 3,038| 1,296
B X £ % 15. 00 | #85f 1, 348 20,220 2,700| 1,429 972
X D O 12. 00| AH%F 508 6,096| 1,728 1,167 648
ESF AWII--N o JE 0. 20 | FHxf 850 170 86 76 32
B | 400 x| 36| 44| 1,512] 1,002 756
H & 5O 3. 00| FHxf 438 1,314 1,512 1,323 864
H A el 1. 00 | #H%f 235 235 540 494 216
ENIE so0 fst| 7] 35 2,160 2,006| 1,620
AN w5 2. 00 | FH %} 164 328 972 899 594
[ I\ w5 5. 00| FH%f 457 2,285 1,728 1,396| 1,080
X s.o0 fEseb | 1] 51 | 1,512
~7 b~ | F 3. 00 | FH %} 25 75|  1,512| 1,469 1,296
SR BN 2. 00 [ FH%} 38 76| 2,700 2,359| 1,404

EenE VR 10. 00| AH % 84 840 3, 456
£ A AL E 20. 00 | #H 5%} 73 1,460| 3,240| 2,636| 2,484
& @ | 10,00 fEk| 182 1,820 2,376 2,015 756
L&A O 10. 00 | #856f 636 6,360| 1,944 1,648 540
==l F X & 4. 00| fHxf 810 3,240 1,512 590 216
Tayal— (r— 6. 00 | FH%f 221 1,326 3,672| 2,105| 1,080
ENIN .00 Fxet| 4] 71 R 0,376

+Lxon =St 4. 00| FHxf 3 12 5, 400
AEHEE w5 0. 10| #Hxf | 2,350 235 173 115 65
ZDXH E % 0. 20 | FHx} 900 180 63 62 59

LU 5 % 0. 20| FA%F 150 30 86
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HE A Foak L 10. 00 | #H%f 506 5,060 2,376 1,825 1,080
e | 10,00 4% | 420 4,200 2,160 2,035| 1,728

Foia— e K 4. 00| fHxf 32 128| 4,104 3,733| 3,564
Avara 7 4 U E | 13.00| fH%f 40 520  4,104| 3,147| 2,862
HEBR D & [ 27| FHxf 1, 190 324 410 342 270
S X EF I 0. 25| A%} 4, 350 1,092 410 299 162
RIHD Y S ) 0. 25| FH%F 1,435 362 335 281 130




